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General Instructions:
1. The question paper consists of 50 multiple choice questions divided into 3 sections A, B and C.
Section A comprises of 20 questions. Any 16 are to be attempted.
Section B comprises of 20 questions. Any 16 are to be attempted.
Section C comprises of 10 questions based on two case studies. Attempt Any 8 questions.
Each question carries 1 mark.
Each question has 4 choices, you have to select any one of them.
There is no negative marking.
Use of calculators is not permitted.

NN R WD

GUS 37/ Section — A
TGS H 1 JFF FoT 20 & 379 @ %1% 16 T 57T F1ford |

This section consists 20 questions of 1 mark each. Attempt any 16 questions.

cot 459

sin30%+ cos 609 il %0 :
t 45
The value of — i 1S
sin309+ cos 609
(a) 1 (b) 2 OF @ 2

2.9f& AABC ~ APQR, z—i =§ T ar(AABC)/ar (APQR) =
If AABC ~ APQR, g—z = § then ar(AABC)/ar (APQR) =
(2)9 (b) 3 OF: (d 3

3. i p TIT q & AT H&ATE 2 aF LCM (p,q) B
If p and q are two prime numbers , then LCM (p,q) is
(a) 1 (b)p (©)q (d) pq
4, 99 & 7 U AIRHT =T g ?
Which of the following is an irrational number?

(a) 2.39 (b) 3.4 (c) 0.271271271........ (d)3.010010011.........
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5. Far st wrster aeelt € 1t I oo o & 27 7 Sten e U &l e g v arfaar 2

Riya and Kajal are friends. The probability that both will have the same birthday in a non-leap year is :

364 1

31 1
@) g (®) g ©) g (d) 133225

6. 8 HHT ST ATl qHATE st & ofivdarea it qwars 7
What is the length of an altitude of an equilateral triangle of side 8 cm?
(a) 2\3cm (b) 4V3cm (c) 3\3cm (d) 5¥3cm

7. FEETa agug 3x° - kx + 6 F AR FTART -1 g ATk FTHATA G :
If the sum of the zeroes of quadratic polynomial 3x* - kx + 6 is -1 then the value of k is :
(a) 3 (b) -3 (c)-9 (d) 9

8. sind = %EﬁcotA FAEE

If the value of sind = % , then the value of cotA is:

(a) V3 () 1 © 2 @ =

9. TEUR f(x) F IF 39 g & FA3eria® € gl T y=f(x) FT ITF Flear g :
(a) x-AT T (b) y-NeT I (c) gAtag & (d) SAH A FIE Aal

The zeroes of a polynomial f(x) are the coordinates of the points where the graph of y=f(x) intersects :
(a) x-axis (b) y-axis (c) origin (d) None of these

10. “a’ &7 9 AT forereh forT (3,a) HETor 2x — 3y = 5 e Rod g, §
The value of ‘a’ for which (3,a) lieson 2x —3y=151is:
1 -1
(@ 3 (b) 3 O (-3

11. 73 P(A) T st it SRR T T geriar g av
If P(A) denotes the probability of an event then:

(a) P(A) <0 (b) P(A) > 0 (©)0<P(A)<1  (d)-1<P(A)<0

12. FfT TETT p(x) = 5x°+13x-m F LIF TH-AL F AFAG AT mFATAAE
If one of the zeroes of the polynomial p(x) = 5x*+13x-m is reciprocal of the other, then value of m is :
(a) 2 (b) 4 (c)-2 (d)-5

13. 97 # & oy ai =T &1 gervers =qor sTHeET T At ¢ ?

Which of the following rational number have non terminating repeating decimal expansion:
19 31 23 64
@ o ®) 533 © %00 @ %

512 3125 400

14. BT ABC &t s[SIT3ll AB 3T AC T2 %H9: g D 9T E S0 TF g 1 AD=2cm, BD=3cm,
EC = 1.5cm 3T DEIBC g | [T AE il @S 3

D and E are respectively the points on the sides AB and AC of triangle ABC such that AD=2cm,
BD=3cm, EC = 1.5cm and DEIBC . The length of AE is

(a) 2.5cm (b) Icm (c) 3cm (d) 6 cm
15. 7% tan2A = cot (A — 12°), TR 2A TH A HIM g, ATAFT AT & :
If tan2A = cot (A — 129), where 2A is an acute angle, then the value of A is:
(a) 36° (b) 34° (c)21° (d) 24°
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16. y=4 I@THIIATATE AT

(a) y-3T&T o THTATAT (b) x-3TeT T T
() X-31&T & THTATAT (d) gafag ux FRua
y =4 represents a line which is :
(a) Parallel to y-axis (b) Perpendicular to x-axis
(c) Parallel to x-axis (d) Lies on origin

17. fT HCF(81,54)=27 & AT LCM (81,54) & :
If HCF (81,54) =27, then LCM (81,54) is:
(a)162 (b) 262 (c) 486 (d) 108

18. Tovgat (5,3) ,(2,3) 3T (2,7) & S ATl AT &7 A HaeriF g :
The coordinates of the fourth vertex of the rectangle formed by (5,3) ,(2,3) and (2,7) are
(a) (5,7) (b) (7,2) (c) 3.7) (d) (7.5)

193%%“% aix+byy+c=0 C Iy a2x+b2y+cz=0%3ﬁ?ﬁgﬁ§3ﬁ:

If system of equations a;x + b;y + ¢; = 0 and ax + boy + ¢,= 0 has infinitely many solutions , then:
al b1 al b1 cl al b1 cl
— E - = ;é -

_ _ al , bl _«c1
@35, Oz=5n"5 O5#; 5 D572

20_ 2
20. AT E tang = & A1 SR AT R

cos 20+sec?0

2 0— 2 0
Given that tanf = i, then the value of cosec Zsee is:
. 3 cosec?0+sec?0 .
OF (b) -1 (01 @ =

gue 7/ SECTION B
STGTH 1 3% F F720 T95/ 579 G F13 16 TH 5T #1914 /

This section consists of 20 questions of 1 mark each. Attempt any 16 questions.

21. et agae & Faehi T TR UF [OAHA 779 -2 & 381 AR agIL R

The sum and product of zeroes of the polynomial are -2 & 3 respectively. The polynomial is :

(a) x? —2x +3 (b) x> +2x+3
(c)x?—2x—3 (d) x> +2x—3
22, ToheT IRHT H&AT T I9HAd (H&T07 g1 ThdT 2
(a) ®Tq OEREEIGIEICEI
(c) T TAT AT Iy (d) JAFTFETHT AATAAT
The decimal expansion of a rational number can be:
(a) Terminating (b) Non Terminating repeating

(¢) Terminating and non terminating repeating  (d) Non terminating non repeating

23. T & & T TohelT ST i TTaehaT Aai af dehdi g ?
Which of the following can not be the probability of an event?

(a) 0.4 (b) 1.00 (c) 18/23 (d) 10/7
: . AB _ BC . . _
24, st ABC @7 DEF ﬁ_gg %Lzﬁﬁﬁrww-@ﬁw&.
If in triangles ABC and DEF, DE_ D then they will be similar, if
(a) £B=¢E (b) 2zA=2«D (c)2B=24D (d) A =2F
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25. T35 & & FIET apiq S¥@T [Swgst &l qATdl g 2

Which of the following figure shows collinear points?

"
C A s -(':
@ ° > © :
2 .E a CIA
=
L B
-
7 5 -5 4 1Tl 2 5 = o Z
1

3lB A

(b) (d) 5 94 -3 -2 —1 0 1
3 -1

'G A .B -2 .C

_1 -3

2 tan30°

260 ————— =
1+ tan?30°
(a) sin 60° (b) cos 60° (c) tan 60° (d) sin 30°

27. TR 50 YT HEATSAl § & T QAT HT T4 AT TAT | STHHAT F7q Hiford o 7 H9ear 3 i 4 1
EIRIUEER

A number is selected at random from first 50 natural numbers. The probability that it is a multiple of 3
and 4 both is:
(a) 7/50 (b) 4/25 (c) 1725 (d) 2/25

28. Tt 9T |t “n” o fohe =Aaw /e & form (4)" 8 | i 8 2
For what least value of ‘n’ ,a natural number, (4)" is divisible by 8?

(2) 0 (b) -1 (c)2 (d)1

29. TGTR 6x” -px-3 HT U AAF > &1 AR pxxtk F F T TATT E | kAT AT E
One zero of the polynomial 6x” -px-3 is ; . The zeroes of the polynomial px*+x-+k are equal. The

value of k is :
(a)-1/14 (b) 1/28 (c) 1/7 (d)7

30. x AT y § 9 #Faee ,[oHd (x,y) foegali (4,-4) 3T (-2,4) T AT, 2 ¢
The relation between x and y so that the point (x,y) is equidistant from the points (-4,-4) and (-2,4) is :
(a) x +4y=3 (b) x -4y+3=0 (©) x +4y+3=0  (d) x -4y=3

31. FgUT px +Hqx+3 F IR FTANT 3 g aT ¢

If the zeroes of the polynomial px*+qx+3 are reciprocal to each other, then :
(2) q=3 (b) p=3 (¢) p-q=0 (d) 3p+q=0

32. g @3) @ Raa g :

The point (4,3) lies on the line:
(a) 3x+7y=27 (b) 7x+2y=47 (c) 3xt+4y=24 (d) 5x-4y=1
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33. AR Ttan @ = 4 7y Z1L=300 o 3

7sin® + 3 cos®
7si -3
I£7 tan @ = 4, then find the value of e —><0%
7sin® + 3 cos®

(@) § (b) > ()7 (d) 7

34, T % 52 T H | ATA ATELATE, §HH 0T STH AT TT9 6 5 31T T2 @Y T | 3755 1L | e 7T AT
I H | T I R AT AT |1 T AT AT 37 ¥ TT3eha’ &

All red King, Queen of spade and 5 and aces of diamond and club are lost from 52 playing cards. A card
is drawn from the remaining well-shuffled pack. The probability of getting a Red card is :

(@) 5 (b) = (© 3 (d) =
35, <¥ T shfa & afw ZBAC = 90° 3fiT AD LBC T ~
In the adjoining figure, if ZBAC =90° and AD 1BC,then
(a) BD.CD = BC? (b) AB.AC = BC?
(c) BD.CD = AD? (d) AB.AC=AD?
C
36. Mo Tas aH T T F § = P
The following pair of linear equations has/have :
x+y =3000
2x + 5y = 12000
(a) 3T g7/ many solutions (b) T &/ two solutions
(c) ATGATT B / unique solution (d) FT< g T8l / no solution

37. AP H XY ||BC 3T AX:XB = 1:3. 9T XY H T S E :
In figure , XY || BC and AX:XB = 1:3. The length of XY is:

(a) 1 cm (b) 2cm
(c) 3cm (d) 1.5 cm

C

38. T 20m FIT ILATAL BT HEE 9T 10 m FFIT FTAT TATAT ¢ | ST IHT THT Teh GEAT 50m ¥ T ST
FATATg | a1 AT 8
A vertical stick 20m long casts a shadow 10 m long on ground. At the same time a tower casts 50m long
shadow. What is the height of the tower?
(a) 100m (b) 50m (c) 80m (d) 40m

FTEAT-FIIIT T _/ Assertion-Reasoning Questions
Faer: T 39-40 § UH ATHFHAT (A) TAT T FX0T (R) g 1 7 T F Tt IO /1 94T A1+ &0 7T AT
et (a),(b),(c) 3 (d) ¥ & Hrfor
(@) A3t REAETR, A Fr 3=q Trdiao g |
(b) AsiT RE@g g R, A& 3=a T8 T2 ¢ |
() AFTgIeg R g |
(d) AsmTgag RaT g
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Directions: In Q 39-40, there is one Assertion (A) and one reason (R). Choose the correct answer of
these questions from the four options (a),(b),(c) and (d) given below:

(a) Both A and R are correct and R is the correct explanation of the assertion.
(b) Both A and R are correct but R is not the correct explanation of the assertion.
(c) A s true but R is false.

(d) A is false but R is true.

39. ATHFAT (A) : gl T STHTST HATAT T LCM T &1 HEAT3T T [OHHA grar g |
FO (R) : AATST €AY, A HEATU & (ST SHAMS [AEE a1 21ar g |

Assertion (A) : The LCM of two prime numbers is the product of these two numbers.
Reason (R) : The prime numbers are numbers having common factor only 1.

40. SITFAT (A) : T aH R THx + 3y —4 =0 3T 2x + 6y = 10 FT IS gA A1 2 |
FOT (R): ¢, FTHT 481

Assertion (A) : The pair of equations x + 3y —4 =0 and 2x + 6y = 10 has no solution.
Reason (R) : The value of c; is -4.

Tus T/ Section C
T 41-50 3 Fe ST R AERTE | 577 T F15 8 TTFT FIfrd ] TAF T 1 JFFT & |

Question number 41-50 are based on two case-studies. Attempt any 8 questions.
Each question is of 1 mark.

- T=T 1/ Case-Study I

STRTIT ATHT FHIATHT o OTeh  ITAT ST Uk &= I I AT 1 9T U I o ST AT 8 1 970 | Ueh qreAme g Siv
TTeh % oh T T g | T TEET ST T 9Tk i TITE O ST SITAT § ST Q1T o Mg (ool &l I (e | 3T
FAT & 1 ATATE qTh o Fe T FoheTe o 9T T %’lﬂrllchuqﬁﬁ%l@TMOm%?rquﬁ%%wﬁ

o gl TE T aw e g A T TR |
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Prakash went to a park in his colony and sat on a bench. The park is circular in shape. There is a pond in the
park which touches the centre of the park. A rope ST is tied on the circumference of the park to separate the
shallow part from the deep part of the pond. The pond is deep near the circular edge. The radius of the

circular park is 420 m and the pond covers the % th part of the park. The rest of the circular park is covered
with green grass.

41. IR FTHAT RO
The central angle of the pond is :
(a) 36° (b) 30° (c) 90° (d) 60°

42. 9T T FA ATARA G -
The total area of the pond is:
(a) 0.0924 km® (b) 0.0654 km* (c) 0.1386 km® (d) 0.0462 km*

43, FTH TAT IAAT ATATE UTeh o (GEH Fl TFd B
() g BroaE@s (b) I gAEE (c) @Y FAES OEERERRICS

The grass and shallow pond together covers part of the park :
(a) Minor sector  (b) Major segment  (c) Minor segment  (d) Major sector

44, 9T F gL AT AT afefg

The circumference of the green part of the park is :
(a) 3040 m (b) 2640 m (c) 840 m (d) 2200 m

45, TTATE il e AHATS 3
The total length of the pond is:

(a) 1.32 km (b) 1.26 km (c) 1.28 km (d) 1.3 km

F9q — &&=t 11 / Case-Study 11

18 20
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U ToF AT S & T8l =T PTM 6 To7T 19 o/ o Taamer s |1 39 918 36 w1 d § AT
TR ol Tohe Fratere & STedt f9ehet TS F70iToh o1TH &l 9% 92§ 4019 o a1el I | 17T F e & a1
g 9 s 3T I 918 HGHTAT o TANIT o (10 g, FieoTT GLIEA 6 o7 Uah gohTd 9L T | FIeET & T
T UH R q | (FH ATRIT § FATATIAT 8 1 FTATT T | =07 36 592 a0 (#9fd (0,-4) 7 1

One day, while going to her office, Suchitra has to go to her son’s school to attend PTM. Then she worked
in the office and left early as some guests are arriving at her house in the evening. She went to the bank after
the office and then to the shop to purchase some groceries to welcome the guests. The route of Suchitra has
been shown in the Cartesian plane in the figure below. The location of Suchitra’s house in Cartesian plane is
(0,-4).

46. EATHF ILTAIH LB ¢

(a) SF OIERIER] (c) THA CEIRIER]
The farthest from Suchitra’s house is :
(a) Bank (b) School (c) Shop (d) Office

47. AT o I F HIATAT T o e T (AT O AT H Tiedl g, SHeh (Maelidh g

The coordinates of school divides the path of Suchitra from her house to office in the ratio :

(a) 1:3 (b) 2:1 (c) 1:1 (d)1:2
48. o= & == g a7 Y U TET AT AR Y
OERE (b) = (c) THAF (d) AT FqHS
The route covered by Suchitra in the whole day is of the shape :
(a) Rectangle (b) Square (c) Trapezium  (d) Parallelogram

49. I TAT 5 o e | Ueh Hiax Foq g | w9 & Axar+ 8 :
The coordinates of the temple, that is in the middle of bank and house, is :

(a) (2,4) (b) (2,3) (c) (3.3) (d) (1,3)

50. &, =T i T g1 a9 Aol ISt T &% &

The area of the triangle formed by bank, school and shop is :
(a) 54 units (b) 27 units (¢c) 13.5units  (d) 18 units
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